021 Bezeichnung 1

Ausflihrung

Maschine

12.078.203.03 Gewindestange M16 x 070 QPB 131
12.078.203.04 Gewindestange M16 x 080 QPB 131
12.078.205.01 Gewindestange M20x90 QPB 131
12.078.205.03 Gewindestange M20 x 100 QPB 131
17.180.219.01 Kugelzapfen S®21,1/(13,3x53 QPB 131
17.200.221.01 Kugelzapfen S@23,5/(15,0/®#12,9x59 QPB 131
17.200.256.01 Kugelzapfen S@20,5/@15,0/@13,0x55 QPB 131
17.200.260.01 Kugelzapfen S@23,0/017,2/®15,0x72,5 QPB 131
17.200.266.01 Kugelzapfen S@23,7/017,2/$12,2x62 QPB 131
17.200.510.01 Kugelzapfen S@28,7/(21,25/(}15,9x75 QPB 131
17.200.512.01 Kugelzapfen S®¥33,1/021,5/(18,5x79 QPB 131
15.300.255.01 Radbolzen M18x1,5x65 QPB 131
15.300.255.02 Radbolzen M18x1,5x60 QPB 131
15.300.311.01 Réndel-Radbolzen M18x1,5x70 QPB 131
15.300.319.01 Radbolzen M18x1,5x52 QPB 131
15.300.507.21 Radbolzen M18x1,5x46 QPB 131
15.300.508.01 Réndel-Radbolzen QPB 131
15.310.207.11 Radbolzen M18x1,5x60 QPB 131
15.310.221.01 Radbolzen M18x1,5x65 QPB 131
18.450.206.01 Sechskantschraube M18x25 QPB 131
11.470.239.01 Sechskantschraube M16x1,5x87 QPB 131
32.490.339.02 Sechskantschraube M16x50 QPB 131
32.490.339.03 6kt.-Schraube M16 x 70 10.9U QPB 131
12.490.372.01 6kt.-Schraube M16 x 100 QPB 131
12.510.252.01 Sechskantschraube M18x45 QPB 131
32.510.257.01 6kt.-Schraube M16 x 016 8.8 QPB 131
32.510.258.01 6kt.-Schraube M20 x 020 8.8 QPB 131
32.700.268.01 6kt.-Schraube M16x058 QPB 131
18.980.218.01 Zylinderschraube M16x1,5x46 QPB 131
0468.1.16.045 HV-PaR-Schraube M16x045 DIN EN 14399-8 HVP-Schraube schwarz QPB 131
0468.1.16.050 HV-Pal-Schraube M16x050 DIN EN 14399-8 HVP-Schraube schwarz QPB 131
0468.1.16.055 HV-PaR-Schraube M16x055 DIN EN 14399-8 HVP-Schraube schwarz QPB 131

0468.1.16.060

HV-PaR-Schraube M16x060 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131




0468.1.16.065

HV-Pal-Schraube M16x065 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.070

HV-PaR-Schraube M16x070 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.075

HV-PaR-Schraube M16x075 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.080

HV-PaR-Schraube M16x080 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.085

HV-Pal-Schraube M16x085 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.090

HV-PaR-Schraube M16x090 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.095

HV-Pal-Schraube M16x095 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.100

HV-PaR-Schraube M16x100 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.105

HV-PaR-Schraube M16x105 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.110

HV-PaR-Schraube M16x110 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.115

HV-PaR-Schraube M16x115 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.120

HV-PaR-Schraube M16x120 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131

0468.1.16.125

HV-PaR-Schraube M16x125 DIN EN 14399-8

HVP-Schraube schwarz

QPB 131




